* Geometry Unit 1 — Segments and Transformations Review
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Directions: Use the figure to answer questions 1-4.

1) Name all angles that have B as a vertex.
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2) Name a pair of supplementary angles.
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5) Fmd the value of the variable and ST'if S is between R and T Let RS= 16, ST = 2x,
RT = 5x + 10. You must show all of your work, justify, and show geometry.
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6) Find the value of x and SR if R is between S and 7. SR = 3x,
RT=2x+1, ST= 6x - 1. You must show all of your work, justify, and show geometry.
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7) Using the picture to the right, find the length of XY. You must
show all of your work, justify, and show geometry.
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8) Find the coordinate of the endpoint S if T is the midpoint of RS and T(3, 4) and R(-2, 3).

A(-2,3) SxY) T(3.4)

gty =) 1

N 2 ' 2 ]

9) Find the exact distance between M(3, 5) and N(7, 9). Write your answer as aYsimpliﬁed radicglﬂ
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Directions: for 10-12, find the distance, midpoint, and slope of each segment. You must simplify
radicals and fractions!
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11)J(4, 2), K(8, -6)
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13) Find the value of x and ST using the figure to the right. You must
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show all of your work, justify, and show geometry.
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14) A student is completing the following construction. What construction
are they making and what is true about the figure?
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15) Classify all that apply: adjacent, vertical, linear pairs, complementary, supplementary, right angle and/or

congruent.
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CONSTRUCTIONS OF TRANSFORMATIONS —

22. FINISH THE CONSTRUCTION, THEN USE THE FIGURE TO THE RIGHT
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A. NAME THE TYPE OF TRANSFORMATION
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B. NAME ALL PROPERTIES OF THE CONSTRUCTION
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23. FINISH THE CONSTRUCTION, THEN USE THE FIGURE TO THE RIGHT

A. NAME THE TYPE OF TRANSFORMATION
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Draw in the line of reflection for 24 through 29.
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Graph the transformation for 30 through 37. If it is a translation, write the rule for the translation.

30. translation: 2 units left and 1 unit down
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32. rotation 90° countcrc]ockmse dbout the 33.  rotation 90° clockwise about the origin
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36. reflection across x = | 37. translation: 5 units left and 2 units down
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38. Create your own real world example of a rotation. (Draw it if it helps.) '
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39. Create your own real World exaﬁple of a reflection. (Draw it if it helps.)
40. Create your own real world example of a translation. (Draw it if it helps.)

41. In a basketball game, Roger is standing at position 4 and he bounces the ball to Edwin standing at position
B. Copy the diagram and sketch the path the ball must travel after being bounced to Edwin by Roger.
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42. Find the slopes of lines. Simplify all fractions, if possible.
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